The following items were received on Tuesday, August 13, 2013 in the form of a charitable donation to the Technology Education Department at Oblock Junior High from 4th River Aquaponics LLC, 2580 Smallman Street, Pittsburgh, PA 15222. Each Item is listed with an approximate value as determined by donor.

	<u>Items Donated</u>	Donor's estimated value.
1.	4-50 X 2-4X6 Aquaponic System.	\$ 6,895.00
2.	9 parameter water quality test kit	\$ 235.00
3.	Dissolved O2 meter kit	\$ 366.50
4.	Water Test Strips (5 in 1 test)	\$ 12.99
5.	Radiant 8" reflector	\$ 189.95
6.	Metal Halide 1000W Grow Bulb	\$ 84.95
7.	Xtrasun Aluminum 1000W Ballast	\$ 224.95
8.	Rockwool Starter Plugs (98ct X 4) \$13.33 ea =	\$ 53.32
9.	Hydrofarm Seed Starting Mat	\$ 39.95
10.	Constant Flow Inline Pump (\$163 X 2)	\$ 326.00
11.	Ceramic Airstone (box of 16 @ \$12.09)	\$ 193.44
12.	Hp80 aquaponic air pump	\$ 325.00
13.	Led Strip Grow Lights (\$299 X 4)	\$ 1,196.00
	Total	<u>\$10,143.05</u>

Receipt of above items were verified by Mr. Jason Steele

The following items were received on Tuesday, August 13 2013 in the form of a charitable donation to the Technology Education Department at Oblock Junior High. Each Item is listed with an approximate value and a link is attached with an example of the item.

• 4-50 X 2-4X6 Aquaponic System.

\$6895.00

http://aquaponics.com/page/home-garden

• 9 parameter water quality test kit

\$235

http://store.aquaponics.com/index.php?route=product/product&path=76 48 64&product id=

Dissolved O2 meter kit

\$366.50

http://store.aquaponics.com/index.php?route=product/product&path=76 48 65&product id=

<u>213</u>

205

Water Test Strips (5 in 1 test)

\$12.99

http://www.americanaguariumproducts.com/Aquariumtestkit.html

Radiant 8" reflector

\$189.95

http://www.hydrofarm.com/product.php?itemid=3728

Metal Halide 1000W Grow Bulb

\$84.95

http://www.hydrofarm.com/product.php?itemid=1498

Xtrasun Aluminum 1000W Ballast

\$224.95

http://www.hydrofarm.com/product.php?itemid=14648

Rockwool Starter Plugs (98ct X 4) \$13.33 ea = \$53.32

http://www.htgsupply.com/Product-Grodan-Stonewool-A-Ok-Starter-Plugs-Sheet-of-98.asp

Hydrofarm Seed Starting Mat

\$39.95

http://www.htgsupply.com/Product-Hydrofarm-Hot-House.asp

Constant Flow Inline Pump (\$163 X 2) \$326

http://www.aguariumwholesaleshop.com/index.php?main_page=product_info&products_id=201

Ceramic Airstone (box of 16 @ \$12.09) \$193.44

http://www.toolfetch.com/teksupply-110077-3-ceramic-air-stone-diffuser.html?utm_medium=shoppingengine&utm_source=bingshopping

• Hp80 aquaponic air pump

\$325

http://hiblowairpumps.net/#HP80

• Led Strip Grow Lights (\$299 X 4)

\$1196

http://www.spheralsolar.com/products/LED-Grow-Master-Pro-Model-with-power-supply.html

Total value of donation

\$10143.05



Re: Aquaponics donation for school board approval

1 message

Steele, Jason <steelej@pbsd.k12.pa.us>
To: "Marraccini, Eugene" <marraccinie@pbsd.k12.pa.us>

Fri, Sep 6, 2013 at 1:28 PM

Thanks very much, I really appreciate it

Jason

On Fri, Sep 6, 2013 at 1:24 PM, Marraccini, Eugene <marraccinie@pbsd.k12.pa.us> wrote: Jason,

I will give you the letter to deliver to them. I'll be in touch.

Sincerely,

Gene

Eugene J. Marraccini Director of Business Affairs Plum Borough School District 900 Elicker Road Plum Borough, PA 15239

Office: 412-798-6356 Cell: 412-292-8042 Fax: 412-798-6396

Email; marraccinie@pbsd.k12.pa.us

On Fri, Sep 6, 2013 at 12:46 PM, Steele, Jason <steelej@pbsd.k12.pa.us> wrote:

Hi Mr. Marraccini.

The donor indicated that the address and name on the letter should read:

4th River Aquaponics LLC 2580 Smallman St. Pittsburgh, PA 15222

He also mentioned that for reasons unknown (even the post office has yet to figure it out), he has never received any mail at the business address (which the USPS provided to him). If you could send the letter to me via interoffice mail, I will make the trip and deliver it personally.

I appreciate this very much Jason Steele

On Fri, Sep 6, 2013 at 10:04 AM, Marraccini, Eugene <marraccinie@pbsd.k12.pa.us> wrote:

Jason,

Please provide me with the name and address of the donor of the equipment so that we can provide the donation acknowledgement. Thank you.

Sincerely,

Gene

Eugene J. Marraccini Director of Business Affairs Plum Borough School District 900 Elicker Road Plum Borough, PA 15239

Office: 412-798-6356 Cell: 412-292-8042 Fax: 412-798-6396

Email; marraccinie@pbsd.k12.pa.us

On Mon, Aug 19, 2013 at 11:29 AM, Steele, Jason <steelej@pbsd.k12.pa.us> wrote:
Please let me know if there is anything else that I can do to help this process along.

Thanks much Jason